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“““"’}L‘:Note T q‘uesuon paper contams two parts

; Part A is compulsory which carries 25 marks. Answer all quest1ons 1ﬁ'vPart A
Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries 10 marks and may have a, b, ¢ as sub questions.

PART- A

\ -arg the appllcauons of S1ngl A ;
© b) Differentiate between linéar and non Tinear data, structures
¢)  What are the disadvantages of an array?
d)  Write the function of deletion of an element from the Queue.
e) What is Threaded Binary Tree?
What are the properties of Binary Tree? [3]
Which sorting algorlthm is best if the list is already sorted. Why’7 12] B—
‘What are the advantages of Binary.S :arch” : [3].
What is Trie? . | et £ : . e & [2}...
Explain how to calculate the Balanced factor in an AVL tree with an example" [3]

PART-B

(50 Marks)

~2.a) Explam about the Asymptotlc notatlons o )
I smgly linked list:

Explam the operatlons on clrcular l1nked lists with an example R [oj
4. Write a program to convert infix expression to postfix expression using stack data
structure. [10]
OR

erte a program to 1rnplement the o eratlons of C1rcular queue

,EXplam about the Blnary tree traversals w1th an example "

OR
7. How to represent a graph? Explain with an example. [10]
8. Sort the following list of elements by using Selection sort and explain each step. [10]
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Explaln':'the dlfferent types of Hash functions with an ¢ ample

10.  Consider the Text = AABAACAADAABAABA and Pattern = ABAA. Apply the KMP

algorithm and Illustrate the intermediate steps. [10]
' OR

11. Insert the followmg l1st of elements 1nto an initially empty red black tree [10]
: ' B .20,9,3,15,6,7, 10, .
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